8050 Carporate Circle Suite 1 Notification of Shlpment

dynamo . . North Royalton OH 44133 1281
the. power of integration by 440 g4 6893 440-842-0625 Fax
excellware, INC.  www.excellware.com

PO#/Reference | 55420
Order# 19643
Order Date 08/12/13
Ordered by Joe Wilson
Entered by Laura Van Valkenburgh on 08/12/13
PP PO [ Y P TP [ P T P 1 Customer# | 1356
Excellware, Inc. Branch Cleveland
8050 Corporate Cir Ste 1 Salesperson House Accts - Cleve Downtown
North Royalton OH 44133-1281 Picked up on | 08/16/13
Shipped Via Customer Pickup
Item# Description Quantity
9220 1/4-20 MACH SCREW ANCHOR 100
9230 3/8-16 MACH SCREW ANCHOR 50
XL5-7HSSS BRUTE #7 HSSS DRILL BIT 6
XL5-21HSSS BRUTE #21 HSSS DRILL BIT 4
XL5-14HSSS BRUTE 1/4 HSSS DRILL BIT 6
XL5-516HSSS BRUTE 5/16 HSSS DRILL BIT 4
XL5-38HSSS BRUTE 3/8 HSSS DRILL BIT 4
321/10-32SPT CHAMPION 10-32 SPIRAL POINT TAP 2
321/14-20SPT CHAMPION 1/4-20 SPIRAL POINT TAP 4
MPD4S 1/4x3-1/16" PILOT DRILL 2
PCD4 1/4" x 4" PRO-CUT PILOT DRILL 2
1034PPHSMS 10x3/4 PH PN HD SMS 100
101PPHSMS 10x1 PH PN HD SMS 100
14HN 1/4-20 STANDARD HEX NUT 200
14FLW 1/4 STANDARD FLAT WASHER 200
14SLW 1/4 SPLIT LOCK WASHER 200
1412HHCS 1/4-20x1/2 HX HD CAP SCREW 100
1434HHCS 1/4-20x3/4 HX HD CAP SCREW 200
141HHCS 1/4-20x1 HX HD CAP SCREW 200
14114HHCS 1/4-20x1-1/4 HX HD CAP SCREW 100
14112HHCS 1/4-20x1-1/2 HX HD CAP SCREW 100
38HN 3/8-16 STANDARD HEX NUT 50
38FLW 3/8 STANDARD FLAT WASHER 50
38SLW 3/8 SPLIT LOCK WASHER 50

Return Policy:

A valid RMA# is required for all returns. Merchandise accepted for return or exchange must be in new condition with all
original packing materials and must include this sales receipt.

Refunds will be made in the same form as original purchase. Cash refunds are limited to a maximum of $50.

No refunds will be issued after 30 days.




